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(a) Tprop = 2000 / 46 runs
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(b) Tprop = 5000 / 57 runs
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(c) Tprop = 10000 / 60 runs
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(d) Tprop = 20000 / 75 runs

Figure 6: Response to artificial ecosystem selection (using propagule sampling) when prop-
agation time is varied. Here the target vector is (ā1, ā2, ā3) = (0.2, 0.3, 0.5) and Pmut =
0.01 for all runs. Mean ±1s.e. plotted for all runs. Tprop takes values from the set
{2000, 5000, 10000, 20000} (number of runs for each given in sub-figure captions). As Tprop

increases, the response to artificial ecosystem selection decreases, showing an inverse relation-
ship between the time between selection events and the elicited response.

13




